BORE N —uhvT FRY-7 HEHR
(BiEhrr7ay 7] Aa—t
Mg | F—o%|RALY P ZF | BERAR| REFZ = | & e xe]||asa|nxafses
2 KL v K 5 — 17 15 — 3] 2[2]0] 2] 0 nx[30]10[50
3 =fm [7 — 15 2 — 15 2[0[2]0]2[0[9[30]x
[ HRA# 5 — 2 15 — 1]2]2]0]2]0]nx[30] 30w
4 REBS[3 — 15 | — 15 2]0f2]o]2]0f4[30]s
(WEZT7av 7] Aa—t
&z F— 42 | mEALB0Y| KFaB | HARF - Alwe| Bs| & |@e|xe] o o] wne]exe]nee
3 HRAILBOY IEEINEERANBANBIEE
[ xFB [I5[ -] Is[—Ja]2[2]0] 2] 0 nx[30]10[50
2 KARF - AlI5] —[I0[ 9] —]I5 2l T 1 ea]25]e
(HH7av 7] Aad—k
I | F—o%| KFaC E | BREA |ze| B & [me[xe[o unfore]oss
2 A#aC s[—[is[is[—Jal2[ [ ]I 1]r]20]19]
[ g [15]—[5 Is[=l4]2]2] o] 2] 0]nx]30] 9=
3 BEA [a|-[is[a]—]I5 2[0f[2]0]2]0[8[30]e=
CREX =R Ba—+
J"E'ﬁf. %—A% ﬁi%"’]Q EWA KR —> EEZ—QMIX E) % ﬁ B k| e mua| nra|mas
2 A0 I — 15 15 — 5[2[ 1[I 1]1]26]20]-»
3 A (15 — 11 5 — 15 2] 200 26]en
[ HIR7 )= 5 — 5 15 — 7]2]2]0]2]0]mx]30]12]em
4 EEAMIX 5 — 15 7 — 15 2o 2] o] 2]0]r12[30]ex
(5<57mvy 7] Ba—+t
[[=Eiva F— L% |TE EETE Ez 1] FEAWC |ze| | & |me]|xe] o o] nna]oxe]nas
3 TE- AT S 6[—J15[1r2[—[is]2]o]2]0]2]0]I8]30[w«
[ EEIEEE 15| =]12] 2] 2] 0] 2] 0na|30] 18] 1o
2 FAWC | 15[ 12[12]—]I5 2 frfr]frfer27]e
CINNA=R7) Ba—t
NE 1L F—4L% = AFoA B, se| BE| B [Be| x| o] ens|nxa|sas
3 = H B[=[is] 1 [=]1s[2]of2]o[2] 01430~
2 KFaA [15[-]13 a[-[is[2] 1[I [1]1]24]28]es
[ B [15[-[1[I15]-]9 22T 0] 2] 0]max]30] 10]>e
(£5w7ov7] ca—+
Jllﬁﬁi %—AZ éKIJJA %ﬂi%@ﬁ H’*l’ﬁ]F - B ﬁf’% Ec ﬂ% ﬁ Bl k] oors| wna]|axs] vas
4 FALA 10 — 15 5 — 15[ 2[o]2[0o]2[0]I5[30]
2 FEER[I5 — 10 4 — 15 2[ [ 29]25] e
3 K #RF - B 5 — 14 8 — is|[ 2] T[] 1]23[29]e
[ Bg [I5 — 5 5 — 8 2] 2] 0] 2] 0]nex[30]13]z
(K<Y 7av7] ca—+t
BT F— 1% BEB [mmadcR] BEE BEIRB | se| B B |@c| t] o] wne] ane| aex
4 HEB 10— 15 9 — Is[2]o]2[o[2]0]19[30]ee
3 EEAIGIRL] 15 — 10 8 — 15 2] 1 23] 25]e=
2 HE 5 — 8 13 — 15[ 2[ 1[I 1[r1]28]23]=
[ 2B |15 — 4 15 — 13 22T 0] 2] 0ma]30]22]
(H—37mv7] pa—k
[ F L | pmtLesaezs x| fiRR7 4 b BAWB [#e| B B |me|xe| o] ens|ars|nes
[ HiRAL Y 10— 15 15 — 7]2[ 1 1[r]i]r]es]22]«
4 s 7-2[ 15 — 10 8 — 15 2[ T[] 1 23] 25]0=
2 FHRRT A 5 — 8 8 — 15[ 2] 1] ir]1]23]23]-
3 FEALB[T7 — 15 5 — 8 2[ T[] ] 22 23]«
(2E->kTov7] pa—+h
B L F— 1% [smile kids| REED o [ifzy 2 =7[aa| BE| & [me]xe]< ] ene]exe]aen
2 [smile kids Is[—Je[s[-[is[2[ I [T r]r[2o0]2I]
3 FEBa [ 6] |15 gl-Tis[2]of2]o]2]0]rs5]30[ex
[ wa=7[ 15| —[5[I5]-]¢ 22T o] 2] 0max]30] 14]2




